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__________________   ______________________

  ___________________

2. Which of these organisms above has the least amount of energy in this food chain?

a. Rabbit

b. Wolf

c. Carrot

d. They all have the same amount

3. The primary succession of a habitat begins with ________ ?

a. Trees

b. Soil

c. No soil

d. Frogs

4. If you do not stay on the trail in a nature park or preserve, what will happen to the soil?

a. Soil compaction

b. Decreased water filtration

c. Erosion

d. All of the above

5. How does deforestation contribute to global warming?

a. Plants produce oxygen 

b. Plants produce carbon dioxide

c. Plants produce Ultra Violet Radiation

d. None of the above

6. How does mining negatively affect an ecosystem?

a. Increased erosion

b. Increase in old growth forests

c. Increased water filtration

d. Increased plant growth

